
PROBA NºREAIS - FRACCIÓNS ALXÉBRICAS - ECUACIÓNS

Nome e apelidos:
1. Calcula:
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Simplifica:
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Resolve as seguintes ecuacións:

4. Expresa como intervalo:

[image: image9.wmf]=

-

+

=

-

+

=

-

-

=

-

=

-

-

-

-

-

-

-

-

243

2

1

3

75

5

1

.

1

27

lg

8

1

lg

.

)

12

.(

27

)

3

.(

6

.

2

.

00004

,

0

00081

,

0

.

5

3

5

3

.

3

2

5

1

4

5

6

2

/

1

2

/

1

1

1

2

2

e

Ln

d

c

b

a


5. [image: image4.wmf]=

+

+

+

-

)

1

2

(

2

5

5

10

2

3

x

x

x

x

x

Calcula:
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